Practice Questions for productivity and costs
Use the table below to answer questions 1 - 8.
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1.Fill in the above table using the cost of labor and the cost of capital from question 2.
2. If wages = $8.00 and the cost of capital = $15.00, what would be the total cost of producing 20 units?

3. If the wages = $8.00 and the cost of capital = $15.00, what would be the average cost per unit, when the company produces 45 units?

4. When wages are $8.00 and the cost of capital = $15.00, what is the lowest price the firm could charge?

5. Which of the columns above would provide the best information for a company that was interested in paying their employees based on commission?
6. Which of the columns above would provide the best information for a company that was interested in paying all of their employees the same amount, based on the output of all workers? 
7. Which column provides the best information in determining a price?

8. Is the information above for the long run or the short run? 

Question 2

1. Fill in the chart below (counts as two questions)
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2. In the chart above, what is the cost of a unit of capital?

a. $7per unit of capital

b. $9 per unit of capital

c. $10 per unit of capital

d. $27 per unit of capital

3. In the chart above, what is the cost of a unit of labor?

a. $7per unit of labor 

b. $9 per unit of labor

c. $10 per unit of labor

d. $37 per unit of labor

4. What is the lowest price this firm can charge?

5. What is their most efficient level of output?

6. Is the company above exhibiting (increasing/decreasing/ or constant) returns to scale? Explain
At the Widget Company, worker 1’s MP of labor is 18 units of output, worker 2’s MP of labor is 12 units of output, worker 3’s MP of labor is 9 units of output and worker 4’s MP of labor is 7 units of output. Each worker earns $80 per day and price per widget is $10. 

7. If the Widget Company uses 4 workers, how many total units of its good will the firm produce each day?

8. Using the information from question 7, if the company increases its labor force from 2 workers to 3 workers, its total profit will change by $____________.

9. If a firm increases their inputs by 100 percent, and their output increases by 100 percent the firm is said to be exhibiting

a. constant returns to scale

b. increasing returns to scale

c. decreasing returns to scale

d. economies of scope 

10. Holding everything constant, if a firm is exhibiting decreasing returns to scale then their average cost are 

as their plant gets bigger.

a. rising 

b. falling

c. remaining constant

